Kilometers and Meters

Name: Class:

Fill in the correct numbers.

6km = m 9,000 m =
8km = m 3,000 m =
15km = m 10,000 m =
16 km = m 11,000 m =
26 km = m 12,000 m =
8km250m = m 9,512 m =
6km339m = m 6,334 m =
S5km 4m = m 4888 m =
I0km900m = m 2,50l m =
I5km 10m = m 15,014 m =
I4km 3m = m 23,002 m =
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Answers

Fill in the correct numbers.

8 km 250 m

6 km 339 m

S5km 4m

10 km 900 m

1I5km 10m

14km 3 m

= | 8,250

= | 6,339

= | 5,004

= 110,900

= 115,010

= | 14,003
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9,000m = | 9 | km
3,000m= | 3 | km
10,000m = | 10 | km
11,000m = | 11 | km
12,000m = | 12 | km
9,512m = | 9 | km | 512
6,334m = | 6 | km | 334
4888m = | 4 | km | 888
2,50lm = | 2 | km | 501
15014m = | 15 | km | 14
23,002m = |23 | km | 2
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